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The way distance, high, and wide and narrow of far thing measures
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ZEEER English translation
I'The way distance, high, and wide and narrow of far thing measures |
There are a lot of the ways. First, we use tool like diagram three
points. look in sijunko, so look measurement thing and zennsijunban.
For example | can know that distance from a tree is 900" when a
tree high is 20kn, plot 2shaku from sizyunko,9syaky,
Also, | can know that distance from a tree is 900ke" when a tree high
is 30 ken plot 3sy2kt from sizyunko, 9%Y2kuThe answer is more correct
large number than small number. When we measure, we must be
careful of not leaving side of tameawasemagasi ,and set the magasi
at right angle. If angle isn’t right angle, there are errors. If the way
look and move measurement thing near me can’t use sideways, we
can use lengthwise. Finally these need people’s idea.
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Tameawasekanejaku: this is a tool which is used
when we measure things
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ZEEIR English translation
If we know ratio of BC BE DE, we can know the distance of AC. A
A: the top of measuring thing ,
B: sizyunkou /
C: the lower part of measuring thing ]
Match and look. /
If BC=20ke“=1205yak“ BE=2sun= %sun DE:gsyaku ,
BE:ED=BC:AC ;
Because AABC and ADBE is similarity, ',"
so The ratio of a corresponding side is equal.
So,2:9=120:AC ;
Accordingly AC is 5400. ’,"
This is 54005ku it js 90Qken D/

If BC=30ken=180%aku BE=3sun=r; ki DE=gswaks, ¢
AC=900ker,
By BE : DE =BC: AC i |

S0 :9=180:AC E c
Accordingly AC is 5400

This is 54008y2ku. jt js 900ken ,too.

So, if the length of BC changes, the length of AC does not change.
Because the length of BC correspondently BE changes too.
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No matter how big the measured thing is, all thing is possible to
measure by using tools and tree ratios. But the way of using
tools need devices, and it causes a few error as written here.
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| want to improve the English translation as nearly the modern
translation as possible, and more understand content.
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| tried understanding the problem which had ever solved. But | tried more understanding
using tools as action of a special group. | understand not only the original sentence but
also the way of tool. And it is difficult for me to harmonize the way with mathematic.
Especially it is difficult to match the apex of a triangle.



